
 © Copy right 2008, Au-ve-co Prod ucts Co. "SINCE 1916" THE  COM PLETE  FAS TENER LINE 295

“6500” SE RIES LARGE DRAWER “FIX-KITS”® Sec. 15

No. 6501 “Fix-Kit”
Phillips Oval Head Tap ping Screws

Zinc & Chrome Plated
24 Va ri et ies - 540 Pieces

Auveco
Part No. Size Head

3069 4x 3/4"
1793 6x 5/8"
1794 6x 3/4"
1796 6x 1"
1797 6x 1-1/4"
2024 8x 3/8" No.6
2358 8x 1/2"
2027 8x 1/2" No. 6
1421 8x 5/8" No. 6
1799 8x 3/4" No. 6
2359 8x 3/4"
1801 8x 1" No. 6
1802 8x 1-1/8" No. 6
2361 8x 1-1/4"
1803 8x 1-1/4" No. 6
2362 8x 1-1/2"
1932 8x 1-1/2" No. 6
1933 8x 1-3/4" No. 6
1717 10x 3/4" No. 8
2728 10x 3/4"
1804 10x 1" No. 6
1807 10x 1-1/8"
2046 10x 1-1/2" No. 6
2047 10x 1-3/4" No. 6

No. 6530 “Fix-Kit”
Phillips Flat Top Washer Head

Tap ping Screws
Black “E” Coat Plated

12 Va ri et ies - 1790 Pieces

Auveco
Part No Size

12950 #6 x 1/2" Black E Coat
12951 #6 x 3/4" Black E Coat
12213 #8 x 1/2" Black E Coat
12214 #8 x 5/8" Black E Coat
12215 #8 x 3/4" Black E Coat
12216 #8 x 1" Black E Coat
12217 #8 x 1-1/4" Black E Coat
12218 #8 x 1-1/2" Black E Coat
12953 #10 x 3/4" Black E Coat
12954 #10 x 1" Black E Coat
14859 #8 x 1/2" Zinc
14861 #8 x 3/4" Zinc

No. 6539 “Fix-Kit”
Phillips Pan Head

Ma chine Screws & Nuts
Zinc Plated

12 Va ri et ies of Screws
4 Va ri et ies of Nuts

2160 Pieces

Auveco
Part No. Size

728 #8-32 Hex Nut
729 #10-32 Hex Nut
730 #10-24 Hex Nut
733 1/4"-20 Hex Nut

15381 #8-32 x 1/2"
15382 #8-32 x 3/4"
15383 #8-32 x 1"
15387 #10-24 x 1/2"
15388 #10-24 x 3/4"
15389 #10-24 x 1"
15393 #10-32 x 1/2"
15394 #10-32 x 3/4"
15395 #10-32 x 1"
15398 1/4"-20 x 1/2"
15399 1/4"-20 x 3/4"
15400 1/4"-20 x 1"

No. 6533 “Fix-Kit”
Stain less Steel Phillips Head

Tap ping Screws
24 Va ri et ies - 1600 Pieces

Auveco
Part No. Size Head

9399 #6 x 1/2" Oval
9400 #6 x 3/4" Oval
9401 #6 x 1" Oval
9403 #8 x 1/2" Oval
9404 #8 x 3/4" Oval
9405 #8 x 1" Oval
9406 #8 x 1-1/4" Oval
9407 #8 x 1-1/2" Oval
9409 #10 x 3/4" Oval
9410 #10 x 1" Oval
9412 #12 x 1-1/2" Oval

13265 #6 x 1/2" Pan
13266 #6 x 3/4" Pan
13267 #6 x 1" Pan
13269 #8 x 1/2" Pan
13270 #8 x 3/4" Pan
13271 #8 x 1" Pan
13272 #8 x 1-1/4" Pan
13273 #8 x 1-1/2" Pan
13274 #10 x 1/2" Pan
13275 #10 x 3/4" Pan
13276 #10 x 1" Pan
13277 #10 x 1-1/4" Pan
13278 #10 x 1-1/2" Pan

No. 6503 “Fix-Kit”
Slot ted Round Head

Ma chine Screws
Zinc Plated

19 Va ri et ies of Screws
5 Va ri et ies of Nuts

1110 Pieces

Auveco
Part No. Size

727 #6-32 Nut
728 #8-32 Nut
729 #10-32 Nut
730 #10-24 Nut
731 #12-24 Nut

2530 #6-32 x 1/2"
2531 #6-32 x 3/4"
2532 #6-32 x 1"
2533 #8-32 x 1/2"
2534 #8-32 x 3/4"
2535 #8-32 x 1"
2536 #10-32 x 1/2"
2537 #10-32 x 3/4"
2538 #10-32 x 1"
2539 #10-32 x 1-1/4"
2540 #10-32 x 1-1/2"
2541 #10-24 x 1/2"
2542 #10-24 x 3/4"
2543 #10-24 x 1"
2544 #10-24 x 1-1/4"
2545 #10-24 x 1-1/2"
2546 #12-24 x 1/2"
2548 #12-24 x 1"
2550 #12-24 x 1-1/2"

No. 6536 “Fix-Kit”

Teks® Self-Drill ing Screws
Phillips Pan Head
Hex Washer Head

Zinc Plated
16 Va ri et ies - 365 Pieces

Auveco
Part No. Size Head

9605 #8 x 1/2" Pan
9606 #8 x 3/4" Pan
9607 #10 x 1/2” Pan
9608 #10 x 3/4” Pan

11905 #12 x 1” Pan
9611 #8 x 1/2" Hex
9612 #8 x 3/4" Hex
9613 #10 x 1/2" Hex
9614 #10 x 5/8" Hex
9615 #10 x 3/4" Hex
9616 #10 x 1" Hex

11911 #12 x 1" Hex
9620 #14 x 3/4" Hex

11914 #14 x 1" Hex
11915 #14 x 1-1/4" Hex
11916 #14 x 1-1/2" Hex

www.clipsandfasteners.com

http://www.clipsandfasteners.com

